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P10 c: " Relacao do aco
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6 N1 85.0 C=78 2x3 N2 25.0 C=54 D, *
86 f ACO | N  DIAM  QUANT | CUNIT @ C.TOTAL
(mm) (cm) (cm)
CAG60 1 5.0 360 /8 28080
2 5.0 140 o4 7560
P11 & 20 3 5.0 45 24 1080
BALDRAME - L1 § N 4 5.0 7 24 168
ESC 1:20 - 2 N CA50 5 10.0 26 152 3952
5 © § ™ % O 6 10.0 12 110 1320
e — i &5 & O 7 100 2 146 292
B —] ~lo |2 8 10.0 4 188 752
[ ] 24 24 > 2|2 3 9 100 4 203 812
. = - o Q|2 10 10.0 4 218 872
A o o z = o 11 100 4 186 744
6 N1 25.0 C=78 2x3 N2 25.0 C=54 o6 o6 70 12 10.0 4 298 912
Y 13 10.0 54 307 16578
14 12.5 8 170 1360
15 12.5 4 221 884
16 12.5 14 165 2310
P12 Resumo do aco
30
BALDRAME - L1 ) © ACO DIAM | C.TOTAL @ PESO +10 %
ESC 1:20 _ E 9 (mm) (m) (kg)
. 0 ®Z CA50 10.0 262.4 177.9
S _ i R 12.5 45.6 48.3
— e CAGO 5.0 368.9 62.5
3 24 24 = |5 o PESO TOTAL
= NG © 2| (kg)
i 9 9 Z pd
< To)
g m 22:8 8:;2 2x2 N2 25.0 C=54 i =~ 70 CA50 226.2
2 N4 ¢5.0 C=24 / CA60 62.5
Volume de concreto (C-25) = 2.21 m?
Area de forma = 44.28 m?
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